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%5, 07-00-001

X L& B HEH ¥ %

E.F.L=100 B.F.L=T74.2 FNo. =1.2 F.A. = £23°
Ig T7 rg Iaf
A z r d ng Vd g r d ng va
1| 125.969 | 10.85 | 1.79631/40.8 oo 16.67 | 1.77279/49.5
2| 968.992 | 0.19 9 -57.171] 0.19
3| 56.202 | 15.50 | 1.76634[46.6{10(—237.500/ 11.82 | 1.71300/53.9
4| 115.310 | 2.91 11 -67.054| 0.19
5| 155.039 | 2.91 | 1.68893(31,1[12| 176.357| 6.40 | 1.76634/46.6
6| 35.754 | 34.50%* 13| - 416.759
J 7|-35.601 | 2.13 | 1.75520[27.5
7/d 34.50%=17.25+17.25
S, =S, =S4 S, I =S5 HI QP (1)
- 0.3860 0.0232 0.0883 - 0.4609 - 0.7805 42.4 -2%

h K% LA’ AR x4 i g T R S O Kio.r
100 -0.214 -0.875 -0.852 -0.116 -0.738 0.2393 -0.2012
70 -0.225 -0.352 -0.283 -0.337 0.054 0.2777 - 0.0355

I o 0]
Xs .
41.67 x 23 +423°
ke 0 i 1 .0 L 0 1
-0.2 0.2LA7 A Ty -1 1AH’
x.I
1
i@ 0.707@ h
! Py 0
=% 1 AHT -l]_ lL AH
"‘41.67 “‘1-"
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4B 07-00-002

E.F.L=100 B.F.L=39.9 FNo. = 2 F.A.=%12°
1 d n v g r d n v
41.623) 7.00 | 1.62041| 60.27|| 7| 70.094| 2.20 | 1.78472/25.71
119.125( 0.16 8|  18.224/20.00*
36.340| 5.50 | 1.62230| 53.20|| 9] —44.400] 9.49 | 1.64769|33.80
68.521| 0.16 10| —74.931 0.20
30.050 5.00 | 1.62041| 60.27|[11] 100.258 3.51 | 1.75520/27.51
49.039| 3.78 12|~ 216.912
20.00%=10.00+10.00
| =Sy =8 =S4 354 5 HI | QPaw)
’ - 0.0469 - 0.0091 - 0.0087 ~0.0185 0.1913 21.2 1.5%
hko% | LA’ ALY xt x4 x4 - x4 Ki Kfo:r
100 - 0.0240 0.333 0.0525 ~0.0233 0.0758 0.2090 0.0379
76 - 0.0807 0.129 -0.0829 - 0.0660 ~0.0169 0.1306 0.0125
!;‘ (0]
125 12°
i
1 0, 0
=0.1 0.1EA% -0.2 0.2 ALY
10 h 0.707@ h
125 ]Qs/
1 0 1 % 3 0 1
-0.1 0.1 AH’/ -0.1 0.1 AH’
/~ -25 - 25
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E.F.L=100 B.F.L=40.6 FNo. = 2 F.A =%12°
|
g I d n v g T d n v
43.669) 7.00 [ 1.61800 64.51) 7| 43.640 2.20 | 1.78472[25.71
148.833( 0.16 8 17.212(15.00*
37.683| 5.50 | 1.62041) 60.27| 9| —56.712(14.50 | 1.64769/33.80
56.374) 0.16 10|- 125.053/ 0.20
25.842| 5.00 | 1.62041 60.27|11| 75.814| 3.50 | 1.75520/27.51
37.998] 3.78 12| 1352.567
15.00* = 7.50 + 7.50
=8, =S, S =S, 3% |or W QP (10)
~0.0493 - 0.0430 ~0.0043 -0.0104 0.1816 | 21.:2 1.5%
ho% LA’ AH’ Xt X3 Xt~ X l Kti Kto.7
100 - 0.0483 0.318 - 0.2080 0.0016 -0.2096 0.5525 0.1227
70 - 0.0806 0.123 —~0.1037 - 0.0355 | - 0.0682 0.2616 0.0187
h / o) ®
25 R e’ 12/
1 0 1 1 0 1 0 '}
-0.1 0.1LA -0.1 |- 0.1x/ -0.2 0.2 AH/
x!
lo h 0.7070 h
125 25
L il ¥ L 0
-0.1 0.1 AH’ -0.1 K AH?
-25L -25
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E.F.L=1 B.F.L=0.84 FNo. =1.6 F.A. = %28
Ty rp I3 T g A d % va g 4 d ng | va
1] 10.650| 0.215 1.487| 70.4 || 8/-24.784| 0.015
2|  1.689| 0.615 9| 0.988) 0.446 | 1.504] 66.9
3/-20.951| 0.169 1.518| 65.1 (10{ 13.517| 0.108
4|  6.461| 2.415 11| -4.626 0.431 | 1.785( 26.1
5 4.541] 0.323 | 1.518 65.1 (12| 0.668| 0,154*
6| —4.541] 0.015 13 2.587| 0.277 1.658] 57.3
j 2.548] 0.262 1.620| 60.3 (14| —1.093
0.154* = 0.104 + 0.050
354 S, 3Ss | 38 S5 HI QP (10)
\ -0.00461 | =0.00018 0.00046 l -0.00347 | =0.00168 0.53 -0.07%
hsw% | LA’ AHY x4 x4 et K1 K#o.7
100 -0.00641 | =0.00039 = 0.0157 - 0.0089 ~0.0068 0.03 0.00563
70 - 0.00878 | —0.00078 -0.0039 -0.0066 0.0027 0.00303 | . 0.00065
I , @ © '
0.3125 = AXe= g 28
] 0 L L 0 2 =i ) __0__|_...
-0.01 0.01LA’ —-0.01 | 0.01%x’ -0.01 0.01AH/
Xs
10 K 0.7070 h
0.3125 0.3125
N 0, 1 0-+.q
-0.01 | 0.01 AH/ —-0.01 | 0.01 AH’
-.3125! el -0.3125




HE. 07-00-005

R & B ¥ %

E.F.L= B.F.L=0.75 FNo. =1.6 F.A =128

g A d n4 va g r o a ng | va
1 10.853| 0.221] 1.487| 70.4 || 8/ ~31.964/0.014

2 1.848| 0.614 9 0.908/0.441 | 1.504] 66.9
3|—14.482 0.166| 1.518( 65.1 ({10 11.682[0.110*

4 6.463| 2.414 11| -5.071]0.428 | 1.785| 26.1
5 4.541] 0.317| 1.518| 65.1 |12 0.611{0.152

6/ —4.541 0.014 13 2.448/|0.276 | 1.678| 55.2

7| 2.547 0.262) 1.620/ 60.3 |[14| -1.115

0.110*=0.055 + 0.055

5, S, [ =Ss S, SSs HI QP (1)

- 0.00441 —-0.00356 1 -0.00207 -0.00324 ! = 0.00094 0.53 1.4%

hKo% LA/ AHY x4 x4 ] 2% -3 A K Kito.1
100 - 0.00450 0.0076 0.00349 -0.00274 0.00623 0.02763 0.00675
70 -0.00790 0.0012 —-0.01184 -0.00813 -0.00371 0.00495 -0.00074

o
'

(1]

Lo.3125 = Los" {28,
&

X /

L 0 1 1 0 i ‘A_‘O__A_‘

-0.01 | 0.01LA’ =0.01 | 0.01x/ -0.01 0.01 AH

x‘l
10 b o.7070 b
0.3125 B
/’

b

L B i B=b s
=0.01 0.01 AH’ -0.01 0.01 AH’
-0.3125 -0.31251
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X & BEA YK

E.F.L=100.2 B.F.L=75.57 FNo. =1.2 E.R =128
Is Ig

E r d ng va g " d nq va
1/ 129.845(10.80 (1.79631/40.8| 8 oo 16.86/1.74443(49.4
2(1490.891| 0.19 9] -55.039 0.19
3| 55.233/16.09 |1.74400/44.9(|10/—348.837| 11.82/1.72000{50.2
4| 116.279| 2.91 11f - 67.248| 0.19
5 168.605 2.91 |1.68893|31,1(|12] 178.566/ 6.20 |1.76684/46.6
6| 35.252(34.50% 13— 503. 465
71— 35.271] 2.13 {1.78470/26.1

34.50%=17.25+17.25

=51 =Sz =Ss3 =S4 =Ss HI QP (1w)
= 0.2742 ~0.0282 0.1267 - 0.4307 -0.8312 42.56 -2.1%
h&Xeo% LA’ AH’ xt X4 Xt~ Xs Ki1 Kto.7
100 - 0.0268 -0.890 -0.833 0.066 -0.899 -0.0339 - 0.2861
70 - 0.0680 - 0.367 =-0.157 =-0.247 0.090 0.2710 - 0.0947
Xt’ ¢ - s
Y" 23 4o8°
L N A
-1 1xf -1 | 1AH’
XI’
W= 0.707@ h
wats 0 1 4 0 1
1 T -1 T AR
J-41.67 i-41.67
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E.F.L=99.2 B.F.L=35.2 FNo. =2.8 F.A.=%10.2
£1. Tafs Ty Tg T T7 T Ty Tio
g r d n v g T d ‘ n v
i 1|  38.98 4.86 | 1.51821/ 65.0 || 6/ 134.14(28.84*
2| 145.48 3.19 7| 30.61) 2.88 | 1.80518| 25.4
!
3 —112.72“ 1.68 | 1.80518| 25.4 || 8/ 53.93| 4.86
4/ 209.73 0.08 9 —20.54/ 1.26 | 1.80610| 40.9
5| 30.94) 5.81 | 1.55963| 61.2 |10 —56.03
28.84%=14.42+14.42
d d dg, d
P} S, >Ss =S4 >Ss HI QP (1®)
-0.02295 | -0.01189 | —0.00216 | —0.01786 0.06655 17.8 0.8%
h®o% LA’ AH’ Xt : # Xt~ Xs K11 KTo.7
100 -0.0559 0.153 -0.103 -0.215 0.112 0.5071 0.0935
70 -0.0798 0.060 -0.117 -0.133 0.016 0.2090 0.0208
h %/ @ £
t -
J17.ss - f10.2 }10.2
L_J_. 1 0 1 1 0 1
-0.1 0.1LAY -0.2 0.2x/ -0.1 0.1AH/
x.I
). h
19 T7.88 9.3070 119 04
J !
e I(’ A 1 0 1
-0.5 0.5 AH’ =0.5 0.5 AH/
L\ -17.05-\,

=17.86
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BHERXEBEDE

E.F.L=100 B.F.L=54 FNo. =2 F.A. =2%25'
1y I» f3 ry Ts¥g fz I rqTyg I 2 r
. \ g 0 l d n v g r d n v
t 1 44.506| 9.212 | 1.6031| 60.7 || 8/—20.661| 2.632/ 1.7400 | 31.7
2| 120.873| 0.392 9|—64.297 0.329
: 3| 44.95 | 5.264 | 1.6031) 60.7 |10|—62.544| 5.264| 1.6516 ( 58.7
T 4 75.714( 0.329 11(-30.053| 1.645
5 34.010' 2.303 | 1.5927| 35.3 [12/—96.008| 7.567| 1.7570 | 47.9
‘ 6/ 17’.994l 3.948 | 1.7130( 53.9 |[13(— 37.835
7 20, 178i24' 346*
24.346%=12,173+12.173
=S >S2 =Ss =Sy >Ss HI QP(1®)
0.2404 -0.2426 -0.5372 -0.1401 1.9344 46.6 12.7%
h&o% LA’ AH’ xt X3 XE=Xa K11 Kte.7
100 6.554 5.930 =25.93 -T42 ~-18.51 2.087 0.500
70 1.700 1.600 ~10.00 -3.35 - 6.65 -0.393 -0.231
be 1.ul:§§{ﬁ%&d:=0.392, 1 ="°°ﬁ":mv
2.8(%dz, LIHM =4*(NA =0.029) ~8%,
1 o ©
4
Lzs Xt Xc’ 25. .}250
1 0.64y X 0 L L 1
=% 5 LA’ =10 | 10x/ ~5 5 AH’
x‘l
poetd 0.7070 b
25 25
- st
=5 5 AH’ -2 2 ALY
—ZSJ —oc
25 9
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EHRERXSBEDE

E.F.L=100 B.F.L=54.25 FNo. =2 Fody = +25°
g r d n v g r d n v
1 43.438] 9.030 [1.6031] 60.7 || 7| 19.767]24.510*
2| 86.163| 0.323 8/ —19.187| 2.580 |(1.7495| 35.2
3| 47.660 5.160 |(1.6031| 60.7 | 9|-90.487 5.160 [1.6385 55.4
4| 94.984] 0.323 10/ -27.870| 1.613
5/ 31.502 2.258 (1.5927| 35.3 [11/-92.546] 7.418 [1.7570| 47.9
6| 16.622| 3.870 (1.7340| 51.5 |12/ - 36.289
24.510%=12.250 +12.260
=51 =S, >Ss 3S, >S5 HI QP (1o)
0.2686 ~0.2889 ~0.4552 -0.1120 1.7034 46.6 10.9%
h&o% LA’ AH’ Xt x4 Xt —Xq K1y Kto.7
100 11.731 5.118 -21.30 B8 1 . ~18.34 1.1677 0.1638
70 2.296 1.425 -8.50 -2.83 -5.67 ~-1.1836 -0.4159
e 1. EREMAE WA =0.323, | =-coit M,
2.%38dy, S2HM =4%(NA =0.028) ~8%,
n (0] (0]
325 x{  x lyge 25°
1 0 1 1 () 1 ! 0
-5 SLA’ -10 10 x/ -5 SAH/
x.I
1o h 0.7070
J[25
o
-5 5 AH’ AH’
- 25

10




